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No. of Questions : 100
qr=T ) wem o 100

Time : 2 Hours } ’ [ Full Marks : 300
g : 2 ge ] | | [ quriE: 300

Note: (1) Attempt as many questions as you c¢an. Each question carries 3 (Three)

1i

marks. One mark will be deducted for each incorrect ansiwer. Zere mark
will be awarded for each unattempted question.

e o P FF 3 @ gae B | TS 9 3 ([d6F) o @ || gw
T AR @ [V U@ F PIeT T TS FANG 0 @ TWE g
B |

(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

afe THTirE dwfae TR 9f) 9TR @ Fiee wdid &, 1 feemm w8 TR 3

In which language Buddhist literatures are written ?

(1) Prakrit () Hindi (3) Awadhi (4) Pali
e fFamm iR R E?
(1) g @ f (@) () =

Where the Ashok Pillar of four lions, which has been adopted as emblem of
Indian republic, is situated ?

(1) Bodhgaya (2) Kaushambi (3) Kushi Nagar (4) Sarnath

ar I A ga e ww, PR ARy TORR @ figd @ w0 R siuen T g

Fel R ?

(1) aErn (2) Fremd {3) HATR (4) |RT™
Who was said to be the author of ancient Hindu law ?

(1} Vashishtha (2) Balmiki (3} Manu (4) Panini
wre faeg et @ fd dvms &er W # 7

(1) afirs (2} D (3} 79 (4) wiford

(1) | P.T.O.
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4.

Which new social practice was adopted during the Rajput age 7

{1} Child marriage (2) Prohibition (3) Jaubar (4) Sat Pratha
WA T H B WS @eER e I ?

(1) == faams (2) wefny (3) R (4) @ wer
Shankaracharya-philosophy was based on which of the following ?

(1) Tantrism (2) Dualism (3} Monolism {(4) Pluralism
siwwred &1 7Y Pt 4 9 e o st an 7

(1) dfrerare (2) goarg (3) wEwEE (4) vgEaTE

In which battle Prithviraj Chauhan was defeated by Mohd. Gori ?

(1) Panipat {2) Kannauyj (3) Munger (4) Tarain
e g # qeliRm 9 Ao MA A EgR T & ?

(1) arfe (2) w=ha (3) Fr (4) T=TER
Who among the following Sainis sought integration of Hindus and Muslims ?
(1) Vallabhacharya (2) Kabir

{3) Namdeo - (4) Madhavacharya

frafafee 3 @ frw v 3 gl or qftet & oaftga oo =1 e i ?
{1) Teovmard (2) FER

(3) T (4) wmeraraTd

Shershah Suri was the first King who paid attention on :

(1) Revenue system (2) Mansabdari system

(3) Road system - {4) Canal system

RIE [0 SoW o0 o, e am R

(1) v goTelt ov (2) WEEEE WOTE TR

(3) WTF WUTER W {(4) TR WONEH O¥

Whose reign, during Mughal rule in India, is considered to be golden age of
Indian history ?

(1} Akabar {2) Shahjahan

(3} Jahangir {4) Bahadur Shah Zafar

B WIS Fo # R umen v gier @1 g g @ A § 7
(1) PR | (2) vt

(3} iR {4) WBIEY WE TH
(2)
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By whom Brahma Samaj was founded ?

(1) Raja Ram Mohan Rai (2) Ravindra Nath Tagore
(3) Bankimchandra Chatterji (4) Dwarika Nath Tagore
e g w5 TERA ) TRmeem oY 7§ o ? -

(1) =T I HEA 1™ (2) g T R

(3) dfpmeeg wed (4) g 71y TR

Indian Panel Code which even now prevails in India, was drafied by Law
Commission beaded by :

(1) Lord Curzon (2) Lord Dalhousie

(3) Macaulay (4) Lord William Bentinck

AT TE WA @ A d o f wud & Sweh giften R | wiem A
fioam o, WS A A

(1) & (2) ord SHErS

(3} Ho (4) ord Rfeam s

In what way Gandhiji started his civil disobedience movement ?
(1) Instigating the people to fire the foreign goods :
(2) Starting a March to Dandi and violating the salt law
(3) Offering Satyagraha
(4) Asking people not to pay taxes
wifyoht ¥ oTgT T sl SR PR weR W fora ?
(1) At B A awgelt B SEm @ R diefda A
(2) S T A TR THE WL DA
(3) HEHE ARl
(4) S P ER BT T I B F&r'zﬁ'—ﬂ
According to Hindu Marriage Act, 1955 a wife may seek divorce from her
husband, if he :
(1) Beats her
{2) Does not talk to her
{(3) Guilty of Adultery
(4) Lives away from house for a long time .
' (3) P.T.O.
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14.

15.

186.

1?!

%ﬂﬁﬂﬁaﬁrﬁmlgsaaﬁﬂﬂﬂwqﬁﬁmﬁﬁﬁmwmﬁm
& 7%

(1} 99 (T &) 9N &
(2) SO 910 8 B B
(3) T @ e 2
(4) U o4 §Y9 0% oY 9 FEY B

Reviewing the implementation of Nationa! Plans from time tc time is the
function of ;

(1) Research Programme Commission (2) Union Council of Ministers

(3) Planning Commission (4) National Development Council
i DA @ ANE-EAg IR WA §RE, B

(1) IgEAE FAHH ST (2) F=1g APORey

(3) e 3T (4) I B afeg

By making amendment in Indian Constitution, the extension and organisation
of education has been placed in which Constitutional list ?

(1) State List (2) Union List
(3) Concurrent List (4) Independent List

mﬁunﬁmmﬁmﬁmzﬁgmﬁwﬁﬁmnqawﬁﬁmwﬁwm
27

(1) v o | (2) o i 3

(3) swadt th L (4) wo= ﬂﬁl H

Which one out of the following is the attribute of modern economic system ?
(1) Wealth and credit (2) Factory system

(3) Lack of competition ' (4) Market and exchange
Fresforfiae # & S sy aptermeer 21 Avem & 7

(1) =T U8 91| (2) FREMET Worer

(3) wiremt # =9 (4} TR ve fAfamg

Which one out of following is not the function of planring commission ?
(1) Formulation of plan

(2} Execution of development plans

(3) Appraisal of plan progress

(4) Making recommendation on policy and administration

(4)
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frefafea F & #19 g smEn & gerd T8 & ?
(1) T & fEbor |
(2) mﬂmmﬁwﬁ?aﬁm

(3) WO A T FT RS

(4) Y SR wATEE @ ey A EFRY B

Which ane out of following is not the law against the Child labour ?

(1) Child Labour {Prohibition and Regulation) Act, 1970

(2) Children Act, 1960

(3) Contract Labour (Regulation and Abolition) Act

(4) Minimum Wages Act, 1948

Frafafae & § 219 a9 5@ B fvg oE TR ?

(1) et 59 (Wi d Rfvoss afef s, 1970

(2) ar Rfdam, 1960

(3) et sm (RAfvawa gg swee) ST

(4) ~grem wogdl wfEIfEE. 1948

Out of the four pairs given below, which pair bears the same relationship as the
pair of U.P. and Uttarakhand ? ‘ '

(1) Madhya Pradesh and Rajasthan (2) Bihar and Jharkhand

(3) Himachal Pradesh and Punjab (4) Orissa and Karnatak

Frafafe el § @ P Tw e ¥ W @ W @ § e SR wa
s gEEes ¢

(1) T wEY SR AERAE | 2) fER R FRaEve

(3) fesmae wiw iR SR (4) I¥mT SR FAlED

Raju is the brother of Sachin and Manik is the father of Raju. Jagat is the brother
of Priya and Priya is the daughter of Sachin, wha is the uncle of Jagat ?

(1) Raju {2} Sachin (3) Manik (4) None of these
T W o A ¥ oiR w1 frar &1 @ e @ oA @ sl i st
g & o T &7 A P R 2 |

(1) ¥ (2) wf ~(3) S @) T g TH

(5) . P.T.C.
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24.

Our Constitution in structure is :

(1) Unitary (2) Federal

(3) Rigid (4) Partly unitary and partly federal
EAIRT Wi weeE o #

(1) vor™e (2) wdma-

(3) wfgars (4) AfF w9 ¥ HHe N Wil

w0 9§

Which one of the following law is ot related to social security ?
(1) Maternity Benefit Act, 1961

(2) E.S.I. Act, 1948

(3} Minimum Wages Act, 1948

(4} Workmen's Compensation Act, 1923

Prafafea # & Pra-ar FE amive geem § gatue i & ?
{1) wry= femam R, 1961 -

(2) foydomrdo TN, 1948

(3) =ITew Horgdr T, 1948

(4) FFTR aftgft affas, 1923

Which one of the following is the key person evolving the concept of Non-
aligned movement ?

(1} Marshal Titu (2) Pt.Jawaharlal Nehru

(3} Dr.Sukarmo {4) General Nasir
freaferfan # ¥ Pre-a1 T@r afdm an, Ry Ry sidem 31 Rl B 2
(1) smfa &g (2) do TaTERET YEw

(3) o gamul (4) TR AR

Which one of the following statement is not appropriate in terms of defining
the domestic violence ?

(1) Harm injury or endanger the health, life and well being of a grieved person
(2} Harass or harm the a grieved person for unlawful demand

{3) Threatening a grieved person

(4) Stopping the fulfilment of the need of a grieved person

(6)
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fr=fafan & ¥ e Faa W e o Rafe s & fog sogaa 7f 2 ?
(1) aftm =i & wreg, Wea T FE B JFAE T Fe ggar

@) T AT @ g ¥ o afé B W FRAr a1 JHE T
(3) afdy =afdm #1 gwat &

(4) =fire afda & sravaEast B o T & I

Which one of the following attribution does not suit to explain the meaning of
Social [nsurance ?

(1) Contribution of employee

(2) As a right of worker

(3) Balance proportion between injury and contribution

(4) Respansibility of Government and contribution

Prafafae 3 § o-01 e getee & & ond @1 WO T 2g 9ugT 7EY
g7

(1) %S} F1 AEH

(2) ufaet & afER & w9 H

(3) =t vE smew ¥ wgem fewr

(4) =] B o 2 o wER B reEnd @ e

Legally and also under fundamental rights, children of which age can not be
appointed in factories and other hazardous occupation 7

(1) 13 years (2) 14 years (3) 15 years (4) 16 years
HETT B st I w9 ¥ ok A afeR @ arala ff fRw 9w @ T=
wramt ¥ iR s agart # g 787 8 v 7

(1) 13 =f () 1479 (3) 15 af (4) 16

Which one out of the following has #ot been included in the objectives of child
development under integrated child development services ?

(1) Reducing serious malnutrition of children

(2) Reducing the death rate of children upto 6 years

(3) Giving financial support te N.G.O. for welfare programme

(4) Organising non-formal education
qﬁwmﬁmmﬁﬁﬁﬂﬁmﬁﬁwﬁﬁmﬁﬁﬂﬁﬁﬁﬁﬁfﬁﬁ
wiafee 8 e T 2 7

(1) 7587 @ TRIR FUEOT B FH BT

(2) 6 a4 oF & TP P T W A FA T

(3) TS FHEEE & Y Towioao 7 v geen 3

(@) seEIRE fien SEmE @ e

(7} P.T.O.
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Which one out of the following is mot the appropriate approach for enhancing
the objectivity of research ?

(1} Validity of data

(2) Reliability of data

{3) Impartiality

(4) Extending monetary help to needy respondants

T B A fawaremer 1 9fy 8 Pl § W B suger afte et E 2
(1) e it S |

(2) ot Ft fvawiar

(3} fAeoeram

(4) “TvaRg wovgEn ® fefra wemm &

In which sampling each unit of the stﬁdy has equal opportunity to be selected
as sample for study ?

(1) Random sampling (2) Purposive sampling

(3) Quota sampling (4) Stratified random sampling

R W & Prae™ # seage @ 0ois g 9 SR 3 ed @ w9 4 wgn @
R 6T faemm w # 2

(1) Yvew Jwafe (2) stragel defei

(3) mrer el (4) Hewss Yuvaw Il

Which one out of the following is not the step of scientific method ?
(1) Selection and formulation of problem

(2) Determination of cbjective

(3) Selection and analysis of collected data

{4} Formulation of theories

feafeftan 4 & 25 dfe AR @1 w0 TgF 2 7
(1) |78 @7 =4+ s by

(2) @&t &1 e

(3) Wefae siteel o1 999 siv fveo

(4) REramed 1 fmfo

{8)
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Which statement is wot appropriate to define social work profession in modern
context 7

(1) Itis a problem sciving process
{2) Itis a process of creating awareness in peapie and making them adjusted
(3) [tisa helping process based on religion

(4) Tt is an intervening process in which by working with variety of system,
changes are made in individuals and his milieu to maximize social function

frafafag 3 § TR BU9 AW FR ZgEE P 9Reia @39 & fag ofw

QqgT TETE 7

(1) T% WA Gos &b WA 8

(Z)aﬁwﬁﬁm%ﬁmﬁmaﬁﬁﬁﬁaﬁaﬂwmwémﬁ
waRifeT R wa 8

(3)mwwmwmeﬁmm% -

(4)%Wﬁmwm3,ﬁwmﬁﬁ1ﬂmaﬁuﬂﬁm?ﬁw&
wﬁa%m?lmﬁﬂ-mmwmwﬁqﬁﬂﬁqmm%aﬁﬁm
AT frarae & Sfwad &R 76 JE Wl 66

Which cne of the following is not the goal of social work profession ?
(1) Remaving poverty

(2) Bringing social and political stability

(3) Preparing individual to be self-reliant

(4) Socio-economic progress

Preffufed 3 & B ww o @ @y q@ 8 7

(1) ™R B ¥

(2) i TF aAlad R @

(3) =af¥eEl @1 ITEFER AT

(4) wfaeE vd e vl

Which one of the following does not fit as a social problem ?

(1) Beggary (2) Difference between rich and poor
(3) Drug addiction {4) Dliteracy

frfafio & @ g ATfere W] e Suged F87 8 7 |

(1) Fpmsf (2) E IR g F s

(3) TERER (4) af¥mem

(9) P.T.0.
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Which one is mot included in the meaning of social development ?.

(1) Modernization of social system

(2) Development of welfare programme

(3) All round development of sociéty

(4) Better relations between different communities and classes of society
e A & ol freger § Prefafen § & @ atefm s e 2

{t) wmfrs gome & amyfAatE

(2) DGIES BEHH o APy

(3) wuTE w1 |y e .

(4) "W & A= el SR it % sy T o

What is the ultimate goal of self help group ?

(1) Saving (2) Insurance (3) Empowerment (4) Loan
T4 G WG HT AW TG = 7

(1) w=a (2) 4 {3) AR (4) 9T T Hr
Which methed of settlement of Industrial dispute was advocated by V.V. Giri ?
(1) Conciliation (2) Voluntary Arbifration
(3) Bi-partite negotiation (4) Adjudication

Mehfier faart & gomma &g Jodlo AR & e fofe & zoram o1 oy ?
(1) |X®RA : (2) WRew Ram=

(3) favefra amt o (4) s

What is the general aptitude of trade unions towards management ?
(1) Co-operative (2) Conflicting

{3) Neutral (4) Submissive

e & WY Af-wal o W sty a e 2 2

(1) wEdreE (2) weiee

(3) wew™ (4) T &R B FE A
Which type of method is social action, under social work ?

(1) Primary method (2) Semi-primary method
(3} Secondary method (4) Semi-secondary method
T w1 A wrnferes fFar fre veR o ARy & 7

(1) wmfie faf (2) sehrafrs RRY

(3) fadraa fafer (4) affdroe ARy

(10)
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Which one of the following may not be inctuded under social insurance ?

(1) Health insurance (2) Fire insurance

(3} Provident fund {4) Accdent insurance
Prefafan o § P19 TS &9 @ st At T8 fmar o W 8 ?
(1) =g 9= (2) &t Smr

(3) wfds ffer (4) geres AT

Which one of the following is #ot the law against beggary ?

(1) Anti beggary law of state , (2) Indian Railway Act

(3) Children Act, 1960 {4) Rural Actof beggary

Preafafia & ¥ @19 femgRy e sr@ 787 & ? .
1) o weHR © fRergler fael s (2) W = et
(3) @ afefgd, 1960 (4) femfy & wrim sffem

Which one out of the following is not the objective of social work ?
(1} To cure the problems of client

(2) To prevent the problems of client

(3) To develop the full ability of client

(4) To make the country financially rich

frefemag 3 & 91 w99 B & T T8 E 7

(1) Janef @ wEma &1 9uER

(2) Jarft @ vl @ R

(3) Farft & drgarell &1 ot fAww

(4) W ) i gfte | et F9T

How many methods are used by social workers ?
qrfas smat g fee Rt @ s @ 7
(1) 2 (2)3 (3) 4 (4) 6

Which one out of the following is not the objective of social work research ?
(1) Selection of subject
(2} Delinitation of problem and area of research
(3) Formulation of hypothesis
(4) Forecasting of event
(11) P.T.O.
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frfafaa § & 3 wam o1 vy o1 St TR R 7
(1) faso @1 =77

{2) 99 3R o & &9 &1 999

(3) SUTmeTT w7 A

(4) TETIT # Afesgarcf

Which one out of the following words is related with employer as wage is
related with labour ?
(1) Loan (2) Interest ~ (3) Profit (4) Tax

fFrefefan 4 A s me fae @ o0 TR a=fya & e geR
ufe § gafkm & 7 _

(1) @t (2) &5 {3) = (4) &N
Which one out of the following is rot the area of social work ?

(1) Child welfare (2) Women welfare

(3) Welfare of handicapped (4) Defence of the country
fFesfafa # § e WA B &1 87 7 & 7

(1) " Femm (2) #AfRer Femm

(3} @t &1 Heamm (4) 3w & afteen

At present the people's attitude towards N.G.0O. is :
(1) Positive

{2) Negative

(3) Neutral

(4) Itis only a profit making organisation

A Howledllo T Gfy At &t arfirafiy & -

(1) =

(2) AP

(3) e

(4) W2 #Ta (T FW o §eT &

(12)
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Which one out of the - following criterias of life standard is taken intc

consideration in determining poverty 7
{1) Prevalent

(2} Historical

(3) Criteria determined by earner

(4) Criteria determined by family members

T 3 e @ a7 AeT ') 7 By 79 w fwr o amr i ?
(1) wafem wed

(2) Yofee wwEE)

(3) a=tw & g1 FeiRa w=rd

(4) TR & wET @ ERT P @

While classifying the Indian beggars 'Kama' has not included which one out of
the following ?

(1) Child beggars (2) Self employed beggars

(3) Mentally handicapped beggars (4) Beggars employed by others

wAr W ARa el & wffess ¥ frafafaa @ & 50 wfafa 7287
T o 7

(1) o1& frard (2) wFmfr Frard

(3) FHfEE w9 ¥ e Frard 4) Tl & g fafea e
Which one of the following is #et the area of voluntary action ? -

(1) Rural industries (2) Khadi

(3) New education (4) Irrigation

Prefefaa ¥ & o Rfes o1 @ 83 TE e ?

(1) o FEr (2) @y

(3) 7% fewn (4) fmmg

Which one out of the following is the most prominent approach of social
development ?
(1) Integrated approach
{2) Holistic approach )
(3) Development of socially & economically poors
(4) Basic need approach
(13) P.T.C.
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Frfofe 3 9 @19 wofore fRema o1 w8 g s & 7

(1) g&rga AfFH

(2) sfafes afms

(3) wrfas & anfdfs &y & ™ @1 s
(4) A AT HAF ™

51.  Which one out of the following is not the sustainability of social development ?

(1) Economical sustainability (2} Environmental sustainability
(3) Biological sustainability (4} Cultural sustainability
Frforen # W @ wifre Rora st 787 & 2
(1) anféfe w=fien (2) wgiERET W= SRR
(3) Sifas wwfdar - {4) wieplrs ww o
52.  Which one aut of the following is nof the area of sccial policy 7
(1) Social insurance {2) Conflict resolution
(3) Education {4) Public assistance
Frefafea % & 211 @afe AR =1 85 772 ?
(1) =mfyrs fmr (2) wod HAmE
(3) famn (4) I BT
3. Which one out of the following is not the human right according to UN.O. 7
{1) Economical right (2) Political right
(3) Spiritual right (4) Social and cultural right
YR T W F SR Preifed § 9 @ wrda sftew T8 2
(1) anfee sfer (2) <o affrer
(3) smeaTeTn SfFN (4) wfers wa wivplE sifER

54.  Which one of the following is et the model of social work ?
(1} Problem solving model
(2} Crisis infervention model
(3} Work oriented model
(4} Human resource management model

(14)
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frafafen 3 A 9 e o &7 wfea 7@ & °

(1) &9 9ANF qoa Hied

(2) Traelt ¥ R YES Aied

(3) T argwRITTT Ated

(4) AT HEEA FEY A Aied

Which one of the following is mot included in the definition of Industry under
1D, Act, 1947 ?

(1) There should be constant relation between employer and worker
(2) Itshould produce some commodity or services

(3} The services should meet any human need

(4} It should be established ta earn profit

frafafaa § & o9 daifte g sitfm, 1947 & smafa ST &) ofdwm &
T arar g ?

(1) o o aR @ A9 e e g5 TRy

(2) T g el avg a1 Qa1 &1 Saes & =@y

(3) TP GRI Feor ey N A A revwa @ gil @ e
(4) T T A B Bvw wfed |

Who was the first writer to use 4 Ps. in social case work ?

(1) Marry Richmond (2) Swithon Bowers
(3) Aptekar (4) Perlman
¥os I I ¥ Y w7 wdwen 4 9 w1 qaneT e Y
(1) % Repos (2) Rau" dav

(3) ameHw (4) TR

What is the maximum weekly hours of work for a adult worker under factories
Act, 1948 ?

(1) 54 hours (2) 48 hours (3) 40 hours (4} 42 hours
FREE FRfH, 1948 B s W e @ aftreaw wwew @Y B e
o &2 : :

(1) 54 wwe (2) 48 T (3} 40 " (4) 42 wve

(15) P.T.O.
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59.

60.

81.

According to factories Act, 1948 a creche should be established in a factory
where there are :

(1) 40 women workers (2) 50 women workers
(3) 30 women workers (4) 45 women workers

FRGHT AR, 1948 & srerto 1o wEm § Sy e 2 wirrer 59 wfte, oW
% aef wrdva 8 |

(1) 40 Afdew (2) 50 wfgem

{3) 30 wfea (4) 45 AfEeT -

1.L.0O. was established in :
MfoTosflo # W gF off

(1) 1919 (2) 1920 @3) 1917 (4) 1918

Indian Slavery Act, 1943 was enacted on the basis of whi-::h principle ?

(1) Principle of Regulation (2) Principle of social security

{(3) Principle of social justice (4) Principle of Iriternational liability
AR T wRfi, 1943 5w e 3 amR W 9 gan e ?

(1) ™ =1 fiera (2) RS Jeen = figr

(3) wrfwe =g &1 faam (4) srmisfn R &1 g

How many maximum daily hours of work was fixed for a child under factories
Act, 19347

FRar AR, 1934 F awrfa e aow B At AfE e fas vl
Fraffta & m & 7

w9 @7 3) 5 4) 4

In which of the following industries, the Govt. of India has not formulated any
welfare fund for the workers employed there ?
(1) Beedi (2} Abhrak mine (3) Gold mines (4) Coal mipes

frafeflr # @ f&w Som 4 are woR 3 98t orive s @ 8g o e
Ty Toff Aff fomar # 2

(1) A (2) 3WEF A EWH (3) €F A (4} I @A
(18)
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83. Which ane of the following has not been included in directive prindﬁ]es of

64,

65.

state policy of the constitution ? |

{1) Provision of economical help during unemployment
(2) Provision of economical help during old age

{(3) Equal pay for equal work

(4) Provision of fair wages for workers

i 4 wow & iy Fréers gt & smefa fefafaa 4 9 5w aftafes a2
fm mar & 7 . |

(1) RO F Y anfe wera

(2) qaﬁwa%maﬂ%mm

(3) W79 ®TH TG FAW JoT

(4) AfFpl 3y Sf¥a gogdt &1 IuEy

Which one of the foliowing is #ot industrial dispute under Industrial Dispute
Act, 1947 7

(1) Dispute between employee and workman about the ownership of a part of
land

(2) Dispute between two groups employers of the same industry

(3) Dispute between two groups of workmen working in the same industry

(4) Dispute between two trade unions for recognition

dtenfire e s, 1947 & sla Feafafan 3 @ @59 ofeifte fdarg 7297
37

(1) 99 & e qmre @ wWfe g e ok sr 3 de faeg

(2) T & 3Em & q el 3 = @ few

(3) T & 9B @ 3 T B IR @ d Wi (e

@) = ste Wi & &y argar 3 EE

What is the minimum number of workmen required to work in an industry
where it is essential for the employer to get permission from relevant
Government before retrenchment ?

el 9rT A @ 9 o9 fE Sem ¥ aftsi $ erive g O, WE vl &
@ e F1 39 wEdy § vfee avew # g Wi JeeE g g 7
{1) 150 (2) 200 {3) 10C (4) 250

(17) | P.T.O.
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67.

A notice of how many days is required to be given by the trade union to
employer in public utility services for organising strike under Industrial
Dispute Act, 1947 ?

(1) Before 4 week (2) Before 6 week

(3) Before 8 week (4) Before 9 week

T A9 § FRaw A wH & fom e A @ shaife faa
FRfrER, 1947 @ Fmrta B sfe wo @ P s AIRT ST Em 2 ?

(1) 4 wane gd (2) 6 wars g

{3) 8 w=me gd (4) 9 w=E g

Which one of the following is against the adjudication for resolving Industrial
disputes ?

(1) Jaiprakash Narayan {2) Khandu Bhai Desai

(3) V.V.Giri {4) Vasawada

Prefafam % % 21 sl Rart & o ¥g SRPEE @ Rug o 2
(1) STAYHET TREO (2) @vg WIE 6

(3) #o o iR (4} arasT

Which one of the following may not be registered as Trade Union under Trade
Union Act, 1926 7

(1) Organisation of employer

(2) Organisation of Industrial workmen

(3) Organisation of the students of the University

(4) Organisation of the employees of Hotels

Zaarg |e A, 1926 & awre freefafEs § @S9 wewem Wy @ wu A
vt TET & v B 7

(1) e &1 97ed

(2) =nfd FRMRT &1 drsH

(3) Rvafdmram 3 et 1 91w

(4) BIew & PHGIRG] & HIeA

Against which one of the following danger the economical security provided
by the society does not come under social security ?

(1) Incapability (2) Unemployment (3) Theft (4) Maternity
famfeifie % ® fow @@ 3 faeg @ gm1 wew anftfe gqeen wmifore ween @
Fwrta 7 ancht & ?

(1) areraRTn (2) RS (3) =y 4) e

(18)



15P/285/5

70. Which one of the following is not included under social assistance ?

n,

72,

73.

(1) Provision of loan from provident fund to needy employees of the factory
(2) Provision of old age pension to old aged person '

(3) Giving pension to widows

(4) Provision of vehicle to disabled persons for going to hospital

W WETl @ =i Frefofean § ¥ fed wfafem 78 famp o & 2

(1) FREM & weRars sl & TR B & o a1 weE

(2) I€ S S IZER W F W

(3) Prrawt =1 tem &

(4) s afdmst @ e W @ iy ae B wewT

While determining the poverty line, the need of food of how many persons of

the family is taken into consideration ?

T Y@ F fae ¢ wn ofRer @ feed | @ e 9 aevse e ) fAER

far wmen & 7 -

(1) 2 (2) 3 (3) 4 4) 5
Which one of the following 1s #et included in the bad effect of poverty ?
(1) Personal dis-organisation (2} Paucity of natural resources
(3) Encouragement of child labour {(4) Increasement in loan
fredn & g% wnel A Prefafan & & B witufem =4 fem ST 2 7

(1) =feaa fawes (2) Wl darmt 1 FA

(3) T MF BT WIEEA (4) F9 H T

Which one of the following situations is not essential for determination of
unemployment ?
(1) Willingness to work in a person
(2) Capability to work ina perst:.n
(3} Search for job under the employment of other persons
(4) Search for job for a fully permanent period
o & el § feafefaa Ruefadl § 4 g Rl o7 291 aevas 787 2 7
(1) & =i ¥ &% 1 3 791
(2) TF Afd ¥ &l F= FH &wan
(3) T wfEd ¥ frae § B e
(4) qof wrdh s/l & o o e
{19) - P.T.O.
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74.

75,

76,

77,

78.

What is the percentage of children out of the total children suffering from mal-
nutrition in our country ?

(1) About 12% {2) About 22% (3) About 42% (4) About 72%
TR 30 @ HE ae@ # o e wieT arere S | uR ¥ 7

(1) o 12%  (2) TOT 22%  (3) T 42%  (4) T 72%

Upto what age, the children have been directed in our Constitution for
education free of any fee ?

(1) 6years (2) 14 yéars {3) 8years (4) 16 years
R Wi # faad af a6 B =l & Pages e o By R o €
(1) 6 39 (2) 14 99 (3) 8 @% (4) 16 99

kligheét number of handicapped persons are found in which of the following
age groug in our country ?

(1) 45 to 60 years {2) 30 to 45 years

(3) 15to 30 years (4) O0to 15 years

g 2w ¥ Psfaiea § 9 frw o i @ waite de § i wfem 9 S
87

{1) 45 % 60 T (2) 30 9 45 7d

(3) 15 ¥ 30 a4 @) 0F 1594

When the National Policy for Children was formulated by Govt. of India ?
RE WWHR A g ard N &1 wa Gt faa or ?
(1) 1950 {2) 1960 (3) 1974 (4) 1984

Which one of the following has not been included in National Policy for
Children ?

(1} Appropriate services only for pre-school children

(2) Appropriate service for children before birth

(3) Appropriate services for children after birth

(4) Appropriate services for children in course of their growth

TATY 29 ¥ Uy gTd A o frefafag & | f5d aafea 58 o T ¢

(1) dad Reen wm @ o 7= % foy 9ufie ded

() W B of w3 forg T St
(3) W D qE B T g e A
(4) 7o B o afy @ o Ty e

(20)
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78. Which one of the following has not been included in the objectives of

80.

81.

integrated child development services ? _

(1} Reduction of serious mal-nutrition of children

{(2) Reduction of death rate of children up to the age of two

(3) Giving economical aid to charitable instition for proper care of children

(4) Reducing the rate of children dropped out from school by starting
education programme tc chiidren between the age of 3 to 6 vears

TR A R Y @ s % P % & P e 78 R
t?

(1) 7= & TR qEe § A FE

(2} ST B &% Ay B I B gy wR A @

(3) 7=t 2 TR dwe ¥ em-eeT B o e 2

(4) 9§ B af & T §g dew FEE e B e Bl A TR B av
# B @

Which one of the following services has rof been included in the integrated
child development services ?

(1) Vaccination (2} Family Counselling service
(3) Supplimentary diet (4} Taking care of growth
Frafafea # @ St a1 (hpa aror Ay Sl § whete T2 @ af 7
(1) Erara=or _ (2) ufdER wmyt S

(3) TF IMER (4) Teui o 9 W ew

Which one of the following objectives has not been included in the objectives of
Central Social Welfare Board ?
(1) Evaluation of the activities of voluntary social welfare agencies
(2) Giving financial assistance to voluntary sacial welfare agencies
(3) Registration of voluntary social welfare agencies
(4) Establishing residential homes for children
ﬁﬂﬁiﬁiﬁﬂ‘hﬂﬁﬁﬂﬁﬁ-ﬁﬂm?ﬁa‘mmﬁmﬂé%m ¥ afefom
TE e ?
(1) @AfRos gae FHoT0T SRl A Harelt w eaie
(2) ¥Res wa e afiewt @1 e semer
(3) RRes T Foam aifvew 71 RrRE
(4) wEat % forq smare TE & wnm
(21) P.T.C.
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82. Tn the area of child welfare, which one of the following has nat been included
in the activities of Central Social Welfare Board ?

(1) Looking after the nourishment of orphanages

(2) Preparing the diet programme for children

(3! Prevention of Juvenile delinquency

{4) Establishing the residential facilities for children

e wE @ g # Praferea § ¥ o S WS wer 18 Bt fpawt |
7Y e & ?

(1) s aest & fog wireres

(2) T=8t & forg e I & A

{3) e IO Y DpATH

(4) Tl Ty gl W T

83. Which one of the following agencies has got the most i:aronﬂnent tole in
providing the supplimentary nourishment diet ?

{1) Care (2) World Food Organisation

(3) Indian Child Welfare Council (4) Central Social Welfare Board
Pt % @ Pra sfveT @ e GreER o SRfa wer § it e
ftrT & 7

(1} R (2) frea @ e

(3) AT T Fel aieg (4) FEIT TS P A

B4. Which one of the following pravisions of our Constitution has directed for
contrel of immoral traffic 7

{1} Fundamental right of equality

(2) Fundamental right of freedom

(3) Directive principle of state policy

(4) Fundamental right of protection against exploitation

e AR ¥ Rt s § @ frae g aefe @ @ s g fe
(ECRBEA

(1) |l & wfes FfeR

() wEaA & Wies AREN

(3) Yo Afy @ v g

(4) o @ favg g & Afes AftwR

(22)
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Which one of the following has not been included in the functions of women-
development corporations ?

(1) Identification of women on individual basis or an group basis

(2) Establishing projects for the development of women

(3) Extending help in formulating social legislation for women

(4) Arrangement of training for the development of women :

wiven f@ra Pl & wewl § frafefeg § 9 frd aftefrr 78% fear o 2 7
{1) =afea omIR R a1 AFEl B R oW AfEeel B TeuE

(2) wfeeTell & fwrm ¥y TR ) T

(3) wfEawl & forr wvfore wET & P § wearmar 2o

(4) #ftemalt & fawr o oo o @mawnr s

Which one of the following has #ot been included in the social problems of
scheduled caste ?

{1) Lower social status (2) Untouchability

(3) Mostly uneducated (4) Social dis-organisation

ey el @ W TRl el § A By wiafae @ B T
g7

(1) A= amifas ufefd (2) SrEgeydr

(3) sTRrwieRTr sif¥rfée & (4) arnfee fages

In the Indian Constitution the direction for removal of untouchability has been
given under which provision ?

(1) Fundamental right for equality

(2) Fundamental right for independence

(3) Fundamental right against in-equality

(4} Directive principles of state policy

HRETT HuT § sRgar frare wenl fAds e gmavm & et Ry mar 2 7
{1) "9l B Hwiferw aftew

(2) Tedzar & Aifers sfoeR

(3) srEmTTE AR Afors aReR

(4) wog iy @ s R

(23) P.T.C.
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80.

Which one of the following agencies has been established in the state concerned
for the welfare and protection of the interest of tribes in accordance with
provision of Constitution ? '

{1) Tribal development council (2) Tribal advisory council
(3) Tribal welfare council (4) Tribal improvement council

Prefafter % & e e A wmg St won ¥ WReE @ g @
IR S & s @ 9 R A g A T ?

1) vty féerre ofeg (2) ey TR gfteg
(S)WF&WW (4) TTenfRY GuR gREg

According to Civil Right Protection Act, 1955, which ane out of the following
activities is not considered as punishable crime ?

(1) Prevention of a person from going tc a place of worship; on the basis of
untouchability

(2) Holding a person as professionally incapable on the basis of untouchability

(3) Preventing a person from business give and take on the basis of
untouchability

(4) Silent support to the thought of untouchability

fofte wgew ARww affEm, 1955$mmﬁﬁﬁman&m’t
TUETD AN FHT WHET e & 7

(1) e wfde € 0o Wa W A | IRyl & MR W A5

(2) e =i =) sRgwEn @ TR WY WEES WY ¥ aErg aEerEl
(3) SrgeTm @ SR W A =fie o aeils wE-dm @ A

(4) regTacT @ A Tt HF Al

Which one of the following has not been included in the functions of Naticnal
scheduled caste and scheduled tribes Commission ?

(1) Establishment of judiciaries for the eradication of un’tcfuchahility
(2) Study the quantity of untouchability

(3) Study the economical and social situation of crime against scheduled caste
and scheduled tribes

(4) Study the all aspects for the development of scheduled caste and scheduled
tribes

(24)
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TSN SR A T S S T % vt ¥ Pretie @ o

wfsfoa T8t & ? :

(1) SRYTT & T[E &g = & wrw

(2) YT T AET BT AT

(3}a§ﬁﬁaax%wmﬁﬁaaﬂmﬁ$ﬁﬁamaﬁaﬁm'ﬁﬁﬁmﬁw
o B s : |

(4) aﬁiﬁﬁwﬁqﬁaﬁqﬁﬁmﬁﬁﬁm%@wﬁmﬁmm

Prohibition has been placed in which schedule of the Constitution ?
(1) Central schedule

(2) State schedule

(3) Concurrent schedule

{4) Neither in State schedule nor in Central schedule

e e ot fre A o v oy 2

(1) Fr s

(2) ¥ SrREE

(3) il arpgE '
(4) ﬁ?ﬁraﬁﬁuaﬁ?ﬁﬁ:ﬂhﬂ?ﬁuwf#

In which of the following state there is complete prohibiticn ?

(1) Maharashtra (2) Bihar (3) U.P. (4) Gujarat
Freafafen % @ 7w wroe & qof 7 fgw 2 7 '
{1) wERT (2) feEr (3) ST woT (4) TR

Which one of the f{)lf()wmg Teasons is not appropriate for beggary ?
(1) Comprehensive nature of poverty

(2) Encouragement by law

(3) Increasement in family dis-organisation

(4} Paucity of economic security

Frfefiser & 1 @b PemgRr &1 St oror 78 2 2

(1) frfFer & amre ey

(2) DA F ERT WeAE

3) aRaR® faees ¥ gfy

(4) anfifes Jrenm oY T

(25) P.T.C.
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94. Which one of the following is not incduded in the personal reasons of
prostitution ?

(1) Abnormal sexuality (2} Family dis-organisation
(3) Luxury (4) Mental weakness
Fﬁwﬁ#@aﬁéﬁﬁﬂw&gﬁ%mﬁﬁmmﬁﬁﬂﬁ%ﬂ =¥ foan wrar 8 7
(1) ST HTE (2) oRaRs e
(3) et (4) AARHE ST
@5. Which ane of the following is nof included as an impact of prostitution on
pmsti.tutes? '
(1) Indebtedness _ _ (2) Sexual disease
(3) High social status (4) Social downfall
g 1 e W TR A ol § PrefaRed § & P w8 R
TR 7
(1} O (2) 4= i F
(3) wem wFhaE widerf (4) wmTfoTS T

Note: Read the following passage & answer . Nos. 96 to 100

The country has made great strides towards increasing foodgrains production since
the mid sixties. Today, India ranks high in the production of various commodities
such as milk, wheat, rice, fruits, and vegetables. However, the agriculture sector in
India is at a crossroads with rising demand for fcod items and relatively slower
supply response in many commodities resulting in frequent spikes in food inflation.
The technological breakthrough achieved in the 1960s is gradually waning. The need
for a second green revalution is being experienced more than ever before.

Increasing agriculture production and' productivity 18 & necessary condition not only
for ensuring national food security, livelinood security, and nutritional security but
also for sustaining the high levels of growth envisaged in the current Plan. However,
with very little growth in area and marginal growth in yields of many crops during
the last decade, increasing agricultural production remains a challenge. Concerted and
focused efforts are required for addressing the challenge of stagnating productivity
levels in agriculture. A holistic approach, simultaneously working on agricultural
research, development, dissemination of technology, and provision of agricultural
inputs such as quality seed, fertilizers, pesticides, and irrigation, would help achieve
the critical levels of productivity needed. Further, effective coordination and
monitoring of the ongoing agriculture and allied sector programmes needs to be

(26)
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Sixty per cent of cur net sown area is still rainfed. Various studies indicate that the
potential of rainfed areas has not been fully utilized. A targeted development of
rainfed areas should be prioritized. -

Setting up of efficient supply chains is not only essential for ensuring adequate
supplies of essential items at reascnable prices but also to ensyre that producers get
adequately compensated, Linking farmers to the market is, therefore, very important,
The successful experience of cooperatives in the miik sector in managing the supply
chain and providing remunerative Prices to the producers may be emulated in the
case of agricultural products.

The level of secondary food processing in India is very low compared to many
western countries. With increasing income and population. demand for processed
food is likely to increase. It is fiecessary to cater to this changing demand and at the
same fime enhance the income of farmers, So far the focus in food management has
been on cereals, mainly rice and wheat. However, the demand for processed food is
expected to increase. Investment in food processing, cold chains, handling, and
packaging of processed fcod needs encouragement, -

Declining per capita availability of food grains has been a matter of major concern. For
ensuring nutritional security, it is not only important to increase the per capita
availability of food grains but also to ensure that right quantities of food items are
 there in the food basket of a common man, A thrust on horticulture products is
required for enhancing per capita availability of food items as well as ensuring
nuiritional security. :

Addressing infrastructure requirements in the agriculture sector, especially storage,
communication, roads, and markets should be a priority. Public Private Partership
models can be of help in ensuring faster development of these requirements which are
of vital importance for the growth of agriculture sector,

96. As per the passage, for which amongst the following reasons, it is necessary to
increase the agriculture production and productivity ? :
(a} To ensure food security of Indians.
(b} To achieve targeted economic growth.
(¢} To save valuable foreign exchange utilized in import of essential
agricultural products,
(1) (a), (b), {c) (2) (@) (c)
(3) {a), (b) (4) (a) only

(27) P.T.O.



15P/285/5

97. Which amongst the following is not a measure highlighted in the passage to

gal

100.

increase the agricultural productivity 7

(1) Increasing capital investment in agriculture.

(2) Effective co-ordination and menitoring of various ongoing agriculture and
allied sector programmes.

(3} Emphasis on easy availability of crop insurance.

(4) Dissemination of technology and provision of better agricultural inputs.

As per the passage which amongst the following is a factor because of which
greater emphasis must be laid on secondary food processing ?

(a) Secondary food processing s likely to increase the income of farmers.

(b} Demand for secondary food processing is likely to substantially increase as
there is huge demand in western countries and India can now access their

markets.
(1) For only reason (a) (2) For only reason {b)
(3) For both reasens {a) & (b) {4) For neither reason (a) nor (b)

Which among the following ideas is supported by the passage ?
(a) Increased investment in agriculture by the private sectar

(b) Diversifying agricultural produce

(¢) Ensuring available of better quality of fertilizers and pesticides

(1) @), (b (2) (a) (c}
(3) (o) {c) 4) (a) b). ()
The objective of the passage to

(1) Identify the problems befare Indian agriculture.

(2) Emphasis upon the need for a second green revolution.

(3) Highlight the need for ensuring better returns for farmers.

(4) Tdentify the challenges and way forward for the Indian agriculture.

(28)
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